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1. Let R be the region in the first quadrant that lies between the circles x* + y? =4 and

x* +y* =2x. Evaluate j [Va-x -y da. | (20%)
2. Find the area of the reglon that lies inside both polar curves r=sinfand r =+/3 cos0
( 15%)
3. Find the area of the region bounded by the curve x=fcost , y=tsint 0<¢<x, and
the x-axis (15%)
4. 1im(9\8/x‘»‘8 +2009%" +1 —x) (15%)
5. Let f: R — Rbe a differentiable function and satisfy
_[: f(s)ds =2(e7 -1+ J:)x sf(x—s)ds .
'Find the function f(x). (20%)

6. Evaluate j | \/_———~—1dxd (15%)
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